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C1ass: XII SCIBNCE STREAM Marks:l0o
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GENERAL INSTRUCTIONS: .

Read the instructions carefully before answering
1. Please fill up your Roll No. and class in the box provided on the OMR sheet.
2. This question booklet contains 50 questions and 5 Tie Breaker questions. All
questions including 'Tie Breaker Questions' are mandatory. Tie Breaker questions will
be evaluated only in case of a Tie.
3. Each question carries 2 marks.
4. Each question has 4 answer choices a,b,c,d.
5. For each questiolr, select the best/correct option and darken the bubble completely
against the corresponding question in the OMR sheet provided.
6. Use a blue/black ball point pen to darken the bubble.
7. Darken only one bubble against each question.
8. There will be no negative marking.

Choose the correct answer from the options given.
H,NGLISH

nsage uf tlre wuttl 'ulrirrrrra'.
a) Susan's dream of becoming a movie star is just a chimera.

b) Political news would be dull were it not for the chimera of our elected officials.
c) The chimeric atlrninistration kept all the secrctaries in a state of terror.

-d) A teenager rnight show chimera disregard for the feelings of adults.

2. Choose the conectly spelt word.
a) scinstillate b) scintallate c) scintillate d) scintilatte

rybqwqldrhich-r.rlhs synonym _9f 'epitomel. 

-- 
_

a) dichotomy b) exemplar c) metronome d) cxpansion
- 4. Which of the given words means - 'co-operation in producing effects'?

a) castigation b) synergy c) capitulation , d) castigate

t 5. The antonym of the word 'development' is

a) retardation b) retrogression c) transgression d) progress

6. Choose the part of the sentence which has an error. We lie ail the time, despite the fact that it costs

us considerably more mental effort to lie than to tell truth.

. a) despite the far:t b) it costs us c) to teii truth d) considerably more mental effort
7. The term 'Epiphany' means :

a) A moment of sudden revelation or realization
b) A moment when people attain salvation
c) The satisfying moment achieved through empathy
d) The subtle and complex moment that confbund human mind
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PHYSI(]S

g. A solici tnelal cilbc o1'ecige lcngth 3cm is nroviltg in posilive ),-dit-ecliotr at a c()lrstaill speed o1'

9m/s. fhere is a Lrpilbrrr magnetic field of 0.2T in the positii,e z-directitin. The potential diflererrce

betr.rreen the trvo faccs of the cube perpendicular to the x-axis, is

a) 0.054nV b) 5.4mV c) 54mV d) 0.54Mv

9. A beam of eleclrons is used in ayoungdouble slit experirnent' The slit width is

Wlien the velocity olelectron is decreased, then

a) no interference fringe is observed b) fringe width increases

c) fringe width decreases d) fringe width remains same

1 0. A disc is placed on a surface of a pond which has refi'active indbx 513 - A source

. of light is placed 8m below the surface of the liquid. The minimum diameter of

clisc needed so thal light is not coming oul is

a) 6m b) 12m c) 18m d) 24m

I 1. I'he voltage and current in an ac cirouit are given by

V :4 sin (100llt-W3)

I:3 sin (100il1 +fI/3)

a) voltage leads the current by 120"

b) current leads the voltage bY 124'-

c) voltage leads the current by 60"

d) current leads the voltage bY 60"

The fullscale deflection of current of a galvanometer of resistance 1o is 5mA'

ew-wif+-voll con vert it into a v o ltmeterofual+gp 6V'-

a) By connecting a resistance of L199ko in series with the galvanometer

b) By connecting a resistance of I .199ko in parallel with the galvanometer

c) By connecting a resistance of 1 199ko in series with the galvanometer

d) By connecting a resistance of l199ko in parallel with the galvanometer

I 3. A coil of 1 00 turns carries a gurrent of 5mA and creates a magnetic flux of 1 0-s weber' The

inductance is

a) 0.2 mH b) 2.0 mH c) 0.02 mH d) none of these

14. In a LCR circuit, capacitance is changed from c to 2c. For the resonant frequency to remain

unchanged, the inductance should be changed from L to

a)4L b)zL c)Ll2 d)U4

ff E t
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C-I]ET,TISTRY

15. \Vhat is tire aclivalior energy lor a rcaction. iJ- it's rale doubles rvlren the letllperalure

is raised ll-oni 20oC ro 35oC

a) 342KJlniol b)269KJlrnol

c)34.7 KJ/nrol d)15.1 KJ/mol

16. The CFSE for octahedral lCoCI6la is l8000cm-r .The CFSE for i
tetrahedral [CoCla]2 will be

a)l8ooocm r b) 16o0o cmr

c)8000 cm'r d)20000 cm-r

17. The basic character of transition metal monoxides follows the order

a) VO>CrO>TiO>FeO b)CrO>VO>FeO>Ti!

c)TiO>FeO>VO>CrO d)TiO>VO>CrO>FeO

18. The average osmotic pressure of human blood is 7.8bar at37uC. 'What is the

concentration of an aqueous solufion of NaCl that could be uscd in blood strcam?

a) 0.15mol/L b) 0.30m01/L c) 0.60mol/L d) 0.45mo1/L

I 9. One mole of ethyl acetate on treatment wifh excess of L,iAlHq in dry ether and

subscqucnt acidifi cation produccs

- 
a) 1 mole of acetic acid and I mole of ethyl alcohol

- 
bf 1 mole ethyld'eohofand I mole methyl alcohol

c) 2 rnoles of ethYl alcohol

- d) 1 mole of 2-butanol

20. cyanohydrin of which of the following will yield lactic acid?

a)HGHO- ---ble+r.cocHr c) eHscHzCHO - - - d)€*{jk

2l . For a reaction energy of activation is zero. What is the value of rate constant at 300 K

if K: 1.6 x 10{{-1 at 280 K (R:8.31 JK-r mol-r)

");.6;10;s:l-- 
- ifzg* iots-' c)3.5x 107s-rd)4.2x 106s-r

GENERAL KNOWLEDGE
22.Thethird Vande Bharat Express train, which was recently inaugurated (in October2022),runs

between which cities?
a) New Delhi and Gurugram b) Mumbai and Ahmadabad

cjBengaluru and Mysore d) Mumbai and Indore

23. Which food product won the'Most Popular GI' award of the Commerce and Industry Ministry?

a) Hyderabudi Hul""* b) west Bengal Rasgulla

c) Ritlami Sev d) Bikaneri Bhujiyti

24. Which Indian chess player has recorded third consecutive win in his career against Magnus Carlsen?

a)GukeshDb)PraggnanandhaaRc)ViditGujrathid)NihalSarin
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27 ' AmongP'Q'R's'T and U, R is taller than only P and U. S is sriorter than only T and e. If-each olthenrhas a different lie ight, who among them will be the third from top when they are arranged indescending order of their heisht?

" :ilii,T 
1he nairtc o1'the initialive lauttched b-r the }jn'ir.rr,er1 \4i'is1r,1,1o irrcr.ease urban 1bres1

a) Natar Van b) Creen lrrdia c) Nature Mission d) Green Clities Mission
26. What does the Oll,,nrpic flanre symb olize?

a) zeal to play sporls b) Challenge c) Contirruiry d) Integriry
t

IQ

a)R b)P c)s d)o

415127 W

28' when a number is 
'ultiplied by 13, it becomes greater tol 05 by an amourit with which it is lesser 1o105 by now.What is the number?

. (a) t4 b) 15 c) t6 d) 17

29' You have accidentallyJeft the plug out of the bath and are attempting to fiil the bath with both taps flu'on' The hot tap takes three minutes to fill the bath anJ the cold tap tivo minutes and the water emptiesthrough the plug hole in six minutes._In how .un1, -inuies will the bath be filied?a)l b)3 ")l,s jl; ^'"'

30. Which number logically fbllorvs rhis series?

-7 
95 tI

a) I0 b)S -c)9 dtO

lt 1 
t 
?3r*': 

can catch 100 mice in 100 minutes, the' how rong wiil rake for 7 cats ro catch 7 mice?.t) T mrn

b) I}}min

CRITICAL rrffi.rfruC

" ffilij|;ff#,| 
for communication, but the same sesrures may have differenr meanings in

proposed Inferences
(i) No two cultures use the same gestures
(ii) one gesture wiil never have the same meaning in two curtures(iii)A person from one culture may misirnderstani the gestures used by a person from another curtureA. Only 1

B. Onty II
C. Onty III
D. AII the above
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33. .lohn starled 1o spend l? hours a cia-\'lor llnt;-airce 1csi.

Pl oposed lir lelcnces

(i) Johrr wish to aclrieve high in the entrance tests

(ii) John is hardu'orking
(iii) John is highly determined .
a) None of the above

b) All the three

c) Both i and ii

d) Both i and iii
34. Read the given information and answer the following questions.

Statements: Government has got clearance to demolish some factories from court and construct a

university in place of it. This step was welcomed by few, but rnany residents were against it and

decided to protest against that decision.
' Which of the following may not be the reason for the protest?

I. During demolition pollution levels may increase in nearby premises.

II. They are worried about losing their employment opportunity.
III. They are worried that their children have to travel long distance to attend schools and colleges.

a) Only I
b) Only II
c) Only III
d) Both I and II

35. Many b-u-siness-offiikf-ngs having 2-8 floors. If a brrilding1as
than 3 floors, it has a lift. If the above statements are true, which of the following must be true?

(a) znd floors do not havc lifts
(b) 7th f'loors have lifts

- (c) Only floors above the 3rd floors have lifts
(d) All floors may be reached by lifts

36. Two statements I and II are given. Read both statements and decide which of the
following ip-between these t

I - The school bus with teachers and students couldn't reach the school on time.

II - A major accident took placE on the road blocking the traffic.
(a) If statement I is the cause, statement II could be its effect
(b) Both statements I and II could be the effects of some common cause.

(c) Both statements I and II are independent causes.

(d) If statement II is the cause, statement I could be its effect

TIE-BREAKER
1. The word that means as 'Not having or showing foresight, spendthrift or thoughtlessr :

. a) sanguine
b) sycophant
c)improvidenl
d)servile

2. A plane Electromagnetic wave of frequency 25MHz travels in free space along the x
direction. At a particular point in space and time, E:6.3jV/m.What is magnetic field B at this point.

a.2.18x10-8kr. 'b.2.18x108kr. c.2.18x10-8jr. d.2.18x108ir.
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.An orqanic colnpouncl -X'rvilh rlcllecular
gives contpound 'Y' u,hich r-r-duce s l-rtllcn s'Z'.What is tlrc nra-jor-lrr-odircl o1-reaction oj
2- Methyi propene

Propene

lbrnrula C;H1O on reaciiort u,i1h copper a1 -57-t K
reagent. 'X' ort reaction u iljt srtdiurl njcltii (,ives'Z' u'ith 2-chloro-2-nrethylpropanc
b) Methoxy propane

d) Proparre

a)

c)

4' Born on July24'1802' this Frencli novelist -who was the grandson of an Afi"icantla'e,is hnou,n lbrtwcrclassic works'both adapted to TV shows and movies rnultiple times.His most fbmous book follows ayoung man as he travels to Paris, and is titled after a group of f iends he meets on tle way known as"the three inseparabies"'The second is about Edmond Dantes who is imprisoned under lalse pretextsand escapes and searches for a treasure. who was this iconic autho?

A.Jules Verne

B. Alexandre Dumas

C.Victor-Marie Hugo

D. Voltaire

5. Find out

@) a3

(b) t2s

(c) 487

the wrong term in the series given below 23 43 125 4g7

(d) None of these

**!t**,F*********x
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BIOI,OGY

i. A plant cell in telophasc is observed by a studenl who collected the plant fi-om a field.He tells his teacher

thatthis cell is not shor.r,ing lbrmation of cell plate and thus lhere is variation of chromosotnc nultlber as

corrpared to nomal cells.This u,ould rcsuh in

a.Polygeny 
q '

b.Polyploidy

. c.Aneuploidy

d.Somoclonal valiation

2. The coding strand of a DNA molec.ule is 3'ATGCGAACT 5'. Choose the mRNA strand formed from

this.

a) 5'UACGCUUGA 3' b) 3'UACGCUUGA 5'

c) 3'AUGCCAACU 5'd) 5'AUGCGAACU 3'

3. In a lrns megaspores wi

megaspores develop into an embryo sac, its nuclei would be

- a; HaptoiO b) DIF€id -

' c) A few haploid and a few diploid d) with varying ploidy.

4. Which one of the following immune system components does not correctly match with its respective

role?

")*@y,vjrys-infected cells and protect non infected cells from further viral
----iil€- eTron.

b) B- Iymphocl'tes- produce antibodies in response to pathogens into bloodto fight with them.

c) Macrophages- mucus secreting cells that trap microbes entering in the body.

d) IgA -?resent in colostrum in early days of lactation to protect infant from diseases.

5. Identify the pre-historic man (X) from the given statements and select the correct option regarding it.

I. It appeared around 1.5 million years ago.

II. Cranial capacity was about 900cc.

III. It had protruding jaws and erecl posture.

IV. it had small canines and large molar teeth.

a) X could be Homo habilis who was also the first tool maker and made tools using stones-

b) X could be Neanderthal man that used skin as clothes to protect against harsh climatic conditions-

c)X could be Australopithecus which was truly carnivores and showed bipedal locomotion.
ral
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d) X coLtld be liorlc erecli-ts y,lricir t'ras uilrllivorouis atrd l<neu'use o1'llre

6.Tlreprocessolti-arrslatjcrro{.nrRNAloproteinsbegirrsaSsoonaS:

a. The larger subunit of ribosonre encounters mRNA' l-

b. The srnall subunit of ribosome encounters mRNA

c. Both tlie suburrits joirr logellrer to bind wilh Mrna

d. The tRNA is activated and the larger subunit of ribosome encounters rnRNA'

7. Natural selection where more individuals acquire specific character value otherthan the mean character

value, leads to 
r

a. Stabilising change

' c. DisruPtive change
" b. Directional change-

d. Randorn change


